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e N/cm? 136 160

A=A 74 cm 80 x 110 x 94 110 x 110 x 110

zo EY+ cm 175 X 102 200 x 102

a5 5 Ui 671 o4 671 Ol

DHEY kw 55 2x55 3x55 2x55 3x55

U=E HIET (FHE L= 80 Z[C m3/h 170 255 295 280 345

kg/m3)

A=E =T (FHE Zx 150 Z[CH m3/h 145 225 270 235 300

kg/m3)

A== HIEST (YHE LT 200 Z|CH m3/h 135 205 245 220 275

kg/m3)

4= B8 (3

- 80 kg/m?, Of) YOl Sx t/h(CHEh 14 20 24 22 27

- 150 kg/m?, Oil) RDF t/h(CHEh 22 34 40 35 45

- 200 kg/m?, Ofl) MSW 27 41 49 44 55

A=7| B (M FHlo| mat oHE) ED) 40 50

34 (mm)| A B C D E F G H I J K L M |N|O|P|R|S|T

HTR 425 9239 9459 536 175 80 865 510 413 301 645 53 800 383 | 1021920 | 110| 396 | 940 |2200

0 0 8 1 0 9 0 1 5 5 0 0 3

HTR 700 9243 1021 564 200 90 930 520 421 329 681 53 108 411 102 (920 | 110| 490 | 940 {2490

1 0 0 8 3 5 8 0 3 5 0 5 0 0 8




